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ECONOMICS
( General )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks

Jor the guestions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
oS fm PR s fam

(a)

(b)

(c)

{d
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What is the basic problem of an
economy?

<61 SRS 24 TPt 2

What is meant by static equilibrium?

s sretr o B @2

What is indifference curve?

s q 2

What is price effect?
7 ¥ e R 2
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(2)

(e) What is price discrimination?
A Reowgad e 2
() Define marginal rate of substitution.
e AT TRa wigw foun o
() What is production function?
Teoire Fo 39
2. Answer the following questions : 2%x4=8
T AP el o
(@) Mention two ch. isti
T aracteristics of monopoly
SOOI T 1 3y Sy v |
(b) Point out the differ
ery i
and uncertatuty. ces between risk
TOUNF AF SroTeR
IR T
g NYF (TR
() What is normal price?
TelRE 1 &9
(d) Mention two defe
Ct. i
approach. S of. cardinal
ﬁRﬁW¥@PﬂﬂﬁﬁﬁlﬂGQWiﬂmEﬁ%ikaqann|
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(3)

3. Answer any three of the following questions :
5x3=15
o7e T e R e fofvibr e fan -
(a) Show the differences between returns to
a factor and returns to scale.

oM <BR AT W PRI efre e
% <N T

(b)) Mention any five properties  of
indifference curve analysis.

s @ Ream R @ <ivhr @afe
Ty 9

(c) Show the difference between ‘rent’ and
‘quasi-rent’.
ol WE T AT TS I Yy
@t |

(d) Mention the conditions of short-run
firm’s and industry’s equilibrium under
perfect competition.
of ARSI TR I AR o
ST A ST BEIRRG! SEd 9 |

(e) Show the differences between fixed
costs and variable costs.

o I o ARTSTNA T Ao LT Rl |
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(4)

4. (@) Explain consumer’s equilibrium with
the help of indifference curve analysis. 10
e @ REAR TS SoR SIPTHR
61 F41

Or / |1
Explain producer’s equilibrium with the
help of isoquant curve.
-8R AR TN SemE SReTrel
G T |
(b} State and explain the law of variable
proportions with the help of appropriate

diagram. 10
ARG e R Toge foq e
[N F90 1

Or / 931

How can we derive the short-run

industry’s supply curve under perfect
competition?

o afSaienme T Re TrrR ZEeE
@A (4 R o IRT kR 2

(c) Critically explain the Hawley’s risk-
bearing theory of profit. 10
AR BT A OGO AR TS
HISRCEAL |

Or / a1

How are wages determined under
perfectly competitive market?
o o wee R TgR RdRq
A
* &k ok
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